EARAROBREBRT —5 XN—ZXBISH—F

202452898 (&) 18@IEHSH

Edzesm A3 U5

ER

- ‘I%EH?’JFE‘?] | & 1000 =

[AE%] 1 7% :800,000 . 275:280,000 W  337%&:160,000 F . 437:80,000H . 53&:40,000 M

B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
115 5| K—rO1PIL £ 8 E;J%;%ﬁ 1:(2_5).5 3-3-2-1 |36.8] — 3 (:132) ?jé?ﬁ (B4
RIFVITHAANXN B:TUVFFa—> #HBEIT7—L
= EREtt 2 -1-1- - wEEE (E)
N R PES T # o | FAR o el IR N ) el
R:O—RAprO7 B:FUERI— TSV Rs
= “ r=~ b 5 | BEEE 1:29.5 4-4-4-4 | 37.6| — 2 459 | JIIBSKE (¥2H)
32| T 7YTTSYN ! 54.0 R0 ) | Ir—2hevay
R:YIT709— B:F«7vFTOVR [Shirdie]
, N REBTE : -2-5- = EHOEE ()
n 4| RIARTA ROLY i 5 T (11219/23) 2-2-5-5 | 38.2 4 (ztre18) o2 65
RTFRIAVL—Y B:RINFVINE—9 BB ARG
ey — o6 | HE 1:29.8 5-5-3-3 |38.1| - 5 | de4 | DOESER (%A
5 3| NT—=RHBA 56.0 ) o |E#ET
RVEWTF— BARRALYNT 4 R 45
@ 1—F—&BIENL
13—7F— 1,4,5,2,3
20—+ — 1,4,5,2,3
3al=7r= 1,5,3,2,4
43—F— 5,1,3,2,4
[ BN
B 5 30| | 94 B 1-5 1409 Fs E 1-5 440 3R 1-2-5 210
BB 5 190 2-5 130 o= 5-1 830F9 3EH E=1=2 1,650H4
1 130H4 1-2 1304

ABIC OV TRUTEREERRODDZE. THRIIZEL.




